

Konuralp Journal of Mathematics

Research Paper Journal Homepage: www.dergipark.gov.tr/konuralpjournalmath e-ISSN: 2147-625X



On (p,q)-Fibonacci Polynomials Connected with Finite **Operators**

Emrah Polatlı¹

¹Department of Mathematics, Faculty of Science, Zonguldak Bülent Ecevit Üniversity, Zonguldak, Turkey

Abstract

The aim of this study is to obtain some properties of the (p,q)-Fibonacci finite operator polynomials by implementing the finite operator to the (p,q)-Fibonacci polynomials. Firstly, we obtain the Binet formula, generating function, exponential generating function, Poisson generating function, and binomial sum of (p,q)-Fibonacci finite operator polynomials. After that we give determinantal expressions for these finite operator polynomials. Lastly, we regain, in a different way, recurrence relation for these finite operator polynomials.

Keywords: Binet-like formula; finite operator; generating function; (p,q)-Fibonacci polynomials; tridiagonal determinant. 2010 Mathematics Subject Classification: 11B39; 11C08; 11C20; 11Y55.

1. Introduction and Preliminaries

Recently, in [26], Şimşek introduced an operator as follows:

$$\mathbb{Y}_{\lambda,\beta}\left[f;a,b\right](x) = \lambda E^{a}\left[f\right](x) + \beta E^{b}\left[f\right](x),$$

where a, b are real parameters, λ, β are real or complex parameters. We note that $E^a[f](x) = f(x+a)$. Using this new operator, Şimşek defined two new classes of special polynomials and numbers. He also gave many relations between some known polynomials and number sequences. Let a and b be integers, λ and β be real parameters. For any polynomial sequence $f_n(x)$ and $i \ge 1$, *i*th finite operator $\mathbb{Y}_{\lambda,\beta}^{(i)}[f_n;a,b](x)$ (or briefly $f_n^{(i)}(x)$) is defined by the following relation:

$$\mathbb{Y}_{\boldsymbol{\lambda},\boldsymbol{\beta}}^{(i)}\left[f_{n};a,b\right](x) = f_{n}^{(i)}(x) = \mathbb{Y}_{\boldsymbol{\lambda},\boldsymbol{\beta}}\left[f;a,b\right](x) \left(\mathbb{Y}_{\boldsymbol{\lambda},\boldsymbol{\beta}}^{(i-1)}\left[f_{n};a,b\right](x)\right),\tag{1.1}$$

where $\mathbb{Y}_{\lambda,\beta}^{(1)}[f_n;a,b](x) = f_n^{(1)}(x) = \lambda f_n(x+a) + \beta f_n(x+b).$

We note that this operator generalizes some well known operators such as the identity operator, the forward difference operator, the backward difference operator, the means operator, and the Gould operator. These special cases of the finite operator are given respectively as in Table 1.

Table 1: Some particular cases of new finite operator

λ	β	a	b	Operator
1	0	0	0	$\mathbb{Y}_{1,0}[f;0,0](x) = I(f(x)) = f(x)$
1	-1	1	0	$\mathbb{Y}_{1,-1}[f;1,0](x) = \Delta(f(x)) = f(x+1) - f(x)$
1	-1	0	-1	$\mathbb{Y}_{1,-1}[f;0,-1](x) = \bigtriangledown (f(x)) = f(x) - f(x-1)$
$\frac{1}{2}$	$-\frac{1}{2}$	1	0	$\mathbb{Y}_{\frac{1}{2},-\frac{1}{2}}[f;1,0](x) = M(f(x)) = \frac{1}{2}(f(x+1) - f(x))$
1	-1	$a \rightarrow a + b$	$b \rightarrow a$	$\mathbb{Y}_{1,-1}[f;a+b,a](x) = G_{ab}(f(x)) = f(x+a+b) - f(x+a)$

We remark that these operators have lots of applications in engineering, physics, and applied mathematics. In addition, many researchers in different fields frequently use finite operators in their calculations. Please see [26, 27] for more detail.

$\phi_0(x)$	$\phi_1(x)$	p(x)	q(x)	Polynomial
0	1	x	1	Fibonacci polynomial, $F_n(x)$
0	1	2 <i>x</i>	1	Pell polynomial, $P_n(x)$
0	1	3 <i>x</i>	-2	Fermat polynomial, $\Phi_n(x)$
0	1	2 <i>x</i>	-1	Chebyshev second kind polynomial, $U_n(x)$
0	1	1	2x	Jacobsthal polynomial, $J_n(x)$
0	1	x+2	-1	Morgan-Voyce polynomial, $\mathbb{B}_n(x)$
0	1	x	-1	Vieta polynomial, $V_n(x)$
0	1	6 <i>x</i>	-1	Balancing polynomial, $B_n(x)$

Table 2: Some special cases of (p,q)-Fibonacci polynomials

In [18], Lee and Aşçı defined and examined a generalization for the Fibonacci polynomials named (p,q)-Fibonacci polynomials. The authors defined these polynomials as follows:

$$F_{p,q,n+1}(x) = p(x)F_{p,q,n}(x) + q(x)F_{p,q,n-1}(x), \quad (n \ge 1)$$

where $F_{p,q,0}(x) = 0$, $F_{p,q,1}(x) = 1$. Here p(x) and q(x) are the polynomials with real coefficients. After that Wang [29] derived some interesting combinatorial properties of these polynomials by using elementary methods and techniques. For further information connected to Fibonacci polynomials and their generalizations, please see [12, 13, 17, 20, 21, 24, 25]. Some special cases of (p,q)-Fibonacci polynomials are given as in Table 2.

Recently, in [28], Terzioğlu et al. have defined a new family of quaternions whose components are the Fibonacci finite operator numbers and have provided some properties of these types of quaternions.

We indicate that we will use the symbol $\phi_n(x)$ instead of $F_{p,q,n}(x)$ throughout this paper for simplicity.

In this study, inspired by the above papers, we obtain some properties of the (p,q)- Fibonacci finite operator polynomials. Firstly, we give the Binet formula, generating function, exponential generating function, Poisson generating function, and binomial sum of (p,q)-Fibonacci finite operator polynomials. After that we give determinantal expressions of these finite operator polynomials. Lastly, we regain, by taking a different tack, recurrence relation for these finite operator polynomials given in Theorem 2.1.

2. Main Results

In this section, we apply the finite operator to (p,q)-Fibonacci polynomials and named these polynomials as (p,q)-Fibonacci finite operator polynomials.

Now we start to apply the finite operator to (p,q)-Fibonacci polynomials. Using the eq. (1.1), we obtain

$$\mathbb{Y}_{\boldsymbol{\lambda},\boldsymbol{\beta}}^{(1)}\left[\phi_{n};a,b\right](x) = \phi_{n}^{(1)}(x) = \boldsymbol{\lambda}\phi_{n}(x+a) + \boldsymbol{\beta}\phi_{n}(x+b),$$

where $\phi_n^{(1)}(x)$ is the first finite operator of $\phi_n(x)$. At his point one can obtain the special cases of the finite operator $\phi_n^{(1)}(x)$ by taking the special values in Table 1 such as (p,q)-Fibonacci identity operator polynomial, (p,q)-Fibonacci forward difference polynomial, (p,q)-Fibonacci backward difference polynomial, (p,q)-Fibonacci means operator polynomial, (p,q)-Fibonacci-Horadam operator polynomial respectively.

If we consider the eq. (1.1) again, the second finite operator of $\phi_n(x)$ is given by

$$\mathbb{Y}_{\lambda,\beta}^{(2)}[\phi_n;a,b](x) = \phi_n^{(2)}(x) = \lambda^2 \phi_n(x+2a) + 2\lambda\beta \phi_n(x+a+b) + \beta^2 \phi_n(x+2b).$$

By continuing in a similar way, we obtain the *i*th finite operator of $\phi_n(x)$, termed (p,q)-Fibonacci finite operator polynomials as follows:

$$\mathbb{Y}_{\lambda,\beta}^{(i)}\left[\phi_{n};a,b\right](x) = \phi_{n}^{(i)}(x) = \lambda \mathbb{Y}_{\lambda,\beta}^{(i-1)}\left[\phi_{n};a,b\right](x+a) + \beta \mathbb{Y}_{\lambda,\beta}^{(i-1)}\left[\phi_{n};a,b\right](x+b)$$

$$\mathbb{Y}_{\lambda,\beta}^{(i)}\left[\phi_{n};a,b\right](x) = \phi_{n}^{(i)}(x) = \sum_{k=0}^{i} \binom{i}{k} \lambda^{i-k} \beta^{k} \phi_{n}\left(x+bk+(i-k)a\right).$$

Now, we present our main results. Firstly we give the recurrence relation satisfied by the sequence $\phi_n^{(i)}(x)$.

Theorem 2.1. *The following recurrence relation hold for* (p,q)*–Fibonacci finite operator polynomials:*

$$\phi_{n+1}^{(i)}(x) = p(x)\phi_n^{(i)}(x) + q(x)\phi_{n-1}^{(i)}(x), \quad (n \ge 1)$$
(2.1)

with the initial values $\phi_0^{(i)}(x)$ and $\phi_1^{(i)}(x)$.

Proof. The claim can be demonstrated by induction on *i*.

The following theorem gives the Binet-like formula of the sequence $\phi_n^{(i)}(x)$.

Theorem 2.2. The Binet-like formula for the (p,q)-Fibonacci finite operator polynomials is

$$\phi_n^{(i)}(x) = \frac{\phi_1^{(i)}(x)\left(\lambda^n(x) - \mu^n(x)\right) + q(x)\phi_0^{(i)}(x)\left(\lambda^{n-1}(x) - \mu^{n-1}(x)\right)}{\lambda(x) - \mu(x)}.$$
(2.2)

Proof. From the (2.1), we obtain

 $\phi_n^{(i)}(x) = c_1(x)\lambda^n(x) + c_2(x)\mu^n(x),$

where $\lambda(x) + \mu(x) = p(x)$, $\lambda(x)\mu(x) = -q(x)$, and $p^{2}(x) + 4q(x) > 0$. Putting n = 0, n = 1, and solving the linear equations then we get

$$c_1(x) = \frac{\phi_1^{(i)}(x) - \mu(x)\phi_0^{(i)}(x)}{\lambda(x) - \mu(x)}$$

and

$$c_2(x) = \frac{\lambda(x)\phi_0^{(i)}(x) - \phi_1^{(i)}(x)}{\lambda(x) - \mu(x)}$$

Then we lastly have

$$\phi_n^{(i)}(x) = \left(\frac{\phi_1^{(i)}(x) - \mu(x)\phi_0^{(i)}(x)}{\lambda(x) - \mu(x)}\right)\lambda^n(x) + \left(\frac{\lambda(x)\phi_0^{(i)}(x) - \phi_1^{(i)}(x)}{\lambda(x) - \mu(x)}\right)\mu^n(x) = \frac{\phi_1^{(i)}(x)(\lambda^n(x) - \mu^n(x)) + q(x)\phi_0^{(i)}(x)(\lambda^{n-1}(x) - \mu^{n-1}(x))}{\lambda(x) - \mu(x)}$$
as desired.

as desired.

The following three theorems give the generating, exponential generating, and Poisson generating functions of the sequence $\phi_n^{(i)}(x)$. **Theorem 2.3.** The generating function of (p,q)-Fibonacci finite operator polynomials is

$$\sum_{n=0}^{\infty} \phi_n^{(i)}(x)t^n = \frac{\phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t}{1 - p(x)t - q(x)t^2}.$$

Proof. Let $Q(x,t) = \sum_{n=0}^{\infty} \phi_n^{(i)}(x)t^n$ be the generating function for (p,q)-Fibonacci finite operator polynomials. Now, we consider

$$\sum_{n=0}^{\infty} \phi_n^{(i)}(x)t^n = \phi_0^{(i)}(x) + \phi_1^{(i)}(x)t + \phi_2^{(i)}(x)t^2 + \dots + \phi_n^{(i)}(x)t^n + \dots$$

Then we have

$$-p(x)tQ(x,t) = -p(x)\phi_0^{(i)}(x)t - p(x)\phi_1^{(i)}(x)t^2 - \dots - p(x)\phi_{n-1}^{(i)}(x)t^n - \dots - q(x)t^2Q(x,t) = -q(x)\phi_0^{(i)}(x)t^2 - q(x)\phi_1^{(i)}(x)t^3 - \dots - q(x)\phi_{n-2}^{(i)}(x)t^n - \dots$$

Therefore,

$$\begin{split} \left(1 - p(x)t - q(x)t^2\right)Q(x,t) &= \phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t \\ &+ \sum_{n=2}^{\infty} \left(\phi_n^{(i)}(x) - p(x)\phi_{n-1}^{(i)}(x) - q(x)\phi_{n-2}^{(i)}(x)\right)t^n \\ &= \phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t. \end{split}$$

From the last equation, we obtain

$$Q(x,t) = \sum_{n=0}^{\infty} \phi_n^{(i)}(x)t^n = \frac{\phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t}{1 - p(x)t - q(x)t^2}.$$

Thus the proof is completed.

Theorem 2.4. The exponential generating function for (p,q)-Fibonacci finite operator polynomials is

$$EQ(x,t) = \frac{\left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\lambda(x)}\right)e^{\lambda(x)t} - \left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\mu(x)}\right)e^{\mu(x)t}}{\lambda(x) - \mu(x)}.$$

26

Proof. Let $EQ(x,t) = \sum_{n=0}^{\infty} \phi_n^{(i)}(x) \frac{t^n}{n!}$ be the exponential generating function for (p,q)-Fibonacci finite operator polynomials. By using (2.2), we obtain

$$\begin{split} EQ(x,t) &= \sum_{n=0}^{\infty} \left(\frac{\phi_1^{(i)}(x) \left(\lambda^n(x) - \mu^n(x)\right) + q(x)\phi_0^{(i)}(x) \left(\lambda^{n-1}(x) - \mu^{n-1}(x)\right)}{\lambda(x) - \mu(x)} \right) \frac{t^n}{n!} \\ &= \frac{\phi_1^{(i)}(x)}{\lambda(x) - \mu(x)} \sum_{n=0}^{\infty} \left(\lambda^n(x) - \mu^n(x)\right) \frac{t^n}{n!} + \frac{q(x)\phi_0^{(i)}(x)}{\lambda(x) - \mu(x)} \sum_{n=0}^{\infty} \left(\lambda^{n-1}(x) - \mu^{n-1}(x)\right) \frac{t^n}{n!} \\ &= \frac{\phi_1^{(i)}(x)}{\lambda(x) - \mu(x)} \left(e^{\lambda(x)t} - e^{\mu(x)t}\right) + \frac{q(x)\phi_0^{(i)}(x)}{\lambda(x) - \mu(x)} \left(\frac{e^{\lambda(x)t}}{\lambda(x)} - \frac{e^{\mu(x)t}}{\mu(x)}\right) \\ &= \frac{\left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\lambda(x)}\right) e^{\lambda(x)t} - \left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\mu(x)}\right) e^{\mu(x)t}}{\lambda(x) - \mu(x)} \end{split}$$

as desired.

Corollary 2.5. The Poisson generating function of the (p,q)-Fibonacci finite operator polynomials is

$$PQ(x,t) = \frac{\left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\lambda(x)}\right)e^{\lambda(x)t} - \left(\phi_1^{(i)}(x) + \frac{q(x)\phi_0^{(i)}(x)}{\mu(x)}\right)e^{\mu(x)t}}{e^t(\lambda(x) - \mu(x))}$$

Proof. The proof follows from the relation $PQ(x,t) = e^{-t}EQ(x,t)$.

Now, we give a binomial summation formula related to $\phi_n^{(i)}(x)$.

Theorem 2.6. *The following formula holds for* $n \ge 0$ *:*

$$\sum_{m=0}^{n} \binom{n}{m} p^{n-m}(x) q^{m}(x) \phi_{n-m}^{(i)}(x) = \phi_{2n}^{(i)}(x).$$

Proof. By applying the formula (2.2), we obtain

$$\begin{split} &\sum_{m=0}^{n} \binom{n}{m} p^{n-m}(x) q^{m}(x) \left(\frac{\phi_{1}^{(i)}(x) \left(\lambda^{n-m}(x) - \mu^{n-m}(x) \right) + q(x) \phi_{0}^{(i)}(x) \left(\lambda^{n-m-1}(x) - \mu^{n-m-1}(x) \right)}{\lambda(x) - \mu(x)} \right) \\ &= \frac{\phi_{1}^{(i)}(x)}{\lambda(x) - \mu(x)} \left((\lambda(x)p(x) + q(x))^{n} - (\mu(x)p(x) + q(x))^{n} \right) \\ &+ \frac{q(x)\phi_{0}^{(i)}(x)}{\lambda(x) - \mu(x)} \left(\frac{(\lambda(x)p(x) + q(x))^{n}}{\lambda(x)} - \frac{(\mu(x)p(x) + q(x))^{n}}{\mu(x)} \right) \\ &= \phi_{2n}^{(i)}(x) \end{split}$$

as desired.

3. Determinantal Expression of (p,q)-Fibonacci Finite Operator Polynomials

In this section, we deal with the determinantal expression of (p,q)-Fibonacci finite operator polynomials. First of all, we require the following powerful lemma to express the (p,q)-Fibonacci finite operator polynomials in terms of a tridiagonal determinant.

Lemma 3.1. ([4, p. 40]) Let a(t) and $b(t) \neq 0$ be differentiable functions, let $A_{(n+1)\times 1}(t)$ be an $(n+1)\times 1$ matrix whose elements $a_{k,1}(t) = a^{(k-1)}(t)$ for $1 \leq k \leq n+1$, let $B_{(n+1)\times n}(t)$ be an $(n+1)\times n$ matrix whose elements

$$b_{i,j}(t) = \begin{cases} \binom{i-1}{j-1} b^{(i-j)}(t), & i-j \ge 0; \\ 0, & i-j < 0 \end{cases}$$

for $1 \le i \le n+1$ and $1 \le j \le n$, and let $|C_{(n+1)\times(n+1)}(t)|$ indicate the lower Hessenberg determinant of the $(n+1)\times(n+1)$ lower Hessenberg matrix

$$C_{(n+1)\times(n+1)}(t) = [A_{(n+1)\times1}(t) \quad B_{(n+1)\times n}(t)].$$

Then the *n*th derivative of $\frac{a(t)}{b(t)}$ can be calculated by

$$\frac{d^n}{dx^n} \left[\frac{a(t)}{b(t)} \right] = (-1)^n \frac{\left| C_{(n+1)\times(n+1)}(t) \right|}{b^{n+1}(t)}.$$
(3.1)

We note for interested readers that this lemma has been widely used in [6, 11, 14, 15, 16, 19, 22, 23]. The following theorem expresses $\phi_n^{(i)}(x)$ in terms of the determinant of tridiagonal matrices.

Theorem 3.2. For $n \ge 0$, (p,q)-Fibonacci finite operator polynomials can be expressed determinantally as

$$\phi_n^{(i)}(x) = \frac{1}{n!} \begin{vmatrix} \phi_0^{(i)}(x) & -1 & 0 & 0 & \cdots & 0 & 0 \\ \phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x) & p(x) \begin{pmatrix} 1 \\ 0 \end{pmatrix} & -1 & 0 & \cdots & 0 & 0 \\ 0 & 2q(x) \begin{pmatrix} 2 \\ 0 \end{pmatrix} & p(x) \begin{pmatrix} 2 \\ 1 \end{pmatrix} & -1 & \cdots & 0 & 0 \\ 0 & 0 & 2q(x) \begin{pmatrix} 3 \\ 1 \end{pmatrix} & p(x) \begin{pmatrix} 3 \\ 2 \end{pmatrix} & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & 0 & 0 & \cdots & -1 & 0 \\ 0 & 0 & 0 & 0 & 0 & \cdots & p(x) \begin{pmatrix} n-1 \\ n-2 \end{pmatrix} & -1 \\ 0 & 0 & 0 & 0 & \cdots & 2q(x) \begin{pmatrix} n \\ n-2 \end{pmatrix} & p(x) \begin{pmatrix} n \\ n-1 \end{pmatrix} \end{vmatrix}.$$

Proof. Taking
$$a(t) = \phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t$$
 and $b(t) = 1 - p(x)t - q(x)t^2$ in (3.1) leads to

$$\begin{array}{rcl} & \frac{d^n}{dt^n} \left[\frac{\phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t}{1 - p(x)t - q(x)t^2} \right] \\ = & \frac{(-1)^n}{\left(1 - p(x)t - q(x)t^2\right)^{n+1}} \times \\ & \left| \begin{array}{c} \phi_0^{(i)}(x) + \left(\phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x)\right)t & 1 - p(x)t - q(x)t^2 & 0 & \cdots \\ \phi_1^{(i)}(x) - p(x)\phi_0^{(i)}(x) & - (p(x) + 2q(x)t) \begin{pmatrix} 1 \\ 0 \end{pmatrix} & 1 - p(x)t - q(x)t^2 & 0 & \cdots \\ 0 & -2q(x) \begin{pmatrix} 2 \\ 0 \end{pmatrix} & - (p(x) + 2q(x)t) \begin{pmatrix} 2 \\ 1 \end{pmatrix} & 1 - p(x)t - q(x)t^2 & \cdots \\ 0 & 0 & -2q(x) \begin{pmatrix} 3 \\ 1 \end{pmatrix} & - (p(x) + 2q(x)t) \begin{pmatrix} 3 \\ 2 \end{pmatrix} & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & 0 & \cdots \\ 0 & 0 & 0 & 0 & 0 & \cdots \end{array} \right)$$

(3.2)

For $n \in \mathbb{N}$, if we let $t \to 0$ in the above equation then we obtain

as desired.

Remark 3.3. After deriving the determinantal formula in Theorem 3.2, one can give different proofs for Theorem 3.2. For varied and elegant proofs see [1, 2, 3, 7, 8, 9, 10]. Additionally, several corollaries of Theorem 3.2 can be obtained by using Table 2.

4. Regaining the Recurrence of (p,q)-Fibonacci Finite Operator Polynomials

In this section, we regain, in an alternative way, recurrence relation for the (p,q)-Fibonacci finite operator polynomials given in Theorem 2.1.

Theorem 4.1. For $n \ge 3$, the following recurrence relation holds:

$$\phi_{n+1}^{(i)}(x) = p(x)\phi_n^{(i)}(x) + q(x)\phi_{n-1}^{(i)}(x),$$

Proof. Let $A_0 = 1$ and

	s _{1,1}	s _{1,2}	0	•••	0	0
	s2,1	s _{2,2}	s2,3	•••	0	0
	s _{3,1}	s _{3,2}	\$3,3	•••	0	0
$A_n =$:	:	:	:	:	:
	$s_{n-2,1}$	$s_{n-2,2}$	$s_{n-2,3}$		$s_{n-2,n-1}$	0
	$s_{n-1,1}$	$s_{n-1,2}$	$s_{n-1,3}$	•••	$s_{n-1,n-1}$	$s_{n-1,n}$
	$s_{n,1}$	$s_{n,2}$	$s_{n,3}$	•••	$s_{n,n-1}$	$s_{n,n}$

for $n \in \mathbb{N}$. In [5], Cahill et al. were demonstrated that the sequence A_n for $n \ge 0$ provides $A_1 = e_{1,1}$ and

$$A_n = \sum_{r=1}^n (-1)^{n-r} s_{n,r} \left(\prod_{j=r}^{n-1} s_{j,j+1} \right) A_{r-1},$$
(4.1)

for $n \ge 2$ where the empty product is comprehended to be 1. If we apply the recurrence relation (4.1) to Theorem (3.2), we have

$$(n-1)!\phi_{n-1}^{(i)}(x) = 2q(x)\binom{n-1}{n-3}(n-3)!\phi_{n-3}^{(i)}(x) + p(x)\binom{n-1}{n-2}(n-2)!\phi_{n-2}^{(i)}(x) = (n-1)!\left(p(x)\phi_{n-2}^{(i)}(x) + q(x)\phi_{n-3}^{(i)}(x)\right).$$

For $n \ge 3$, it is apparent from the last equation that

$$\phi_{n+1}^{(i)}(x) = p(x)\phi_n^{(i)}(x) + q(x)\phi_{n-1}^{(i)}(x),$$

as desired.

5. Conclusion

In this present paper, we derived several interesting formulas related to (p,q)-Fibonacci finite operator polynomials and gave determinantal representations of these finite operator polynomials in Section 2 and Section 3 respectively. In the last section, we regained, by taking a different tack, recurrence relation for the (p,q)-Fibonacci finite operator polynomials. The outcomes of this paper may potentially be used in different areas of applied sciences such as engineering and physics. We believe that researchers may find interesting connections between special polynomials by applying finite operators to special polynomials in future works.

Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.

Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.

Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.

Availability of data and materials: Not applicable.

References

- [1] M. Andelić and C. M. da Fonseca, A short proof for a determinantal formula for generalized Fibonacci numbers, Le Matematiche, 74(2), (2019),
- 303-307. M. Andelić and C. M. da Fonseca, On a determinantal formula for derangement numbers, Kragujevac J. Math., 47(6), (2023), 847–850.
- [3] M. Andelić and C. M. da Fonseca, On the constant coefficients of a certain recurrence relation: A simple proof, Heliyon, 7(8), e07764, (2021). https://doi.org/10.1016/j.heliyon.2021.e07764
- [4] N. Bourbaki, Elements of Mathematics: Functions of a Real Variable: Elementary Theory (Springer, Berlin, 2004). Translated from the 1976 French original by Philip Spain. Elements of Mathematics (Berlin). https://doi.org/10.1007/978-3-642-59315-4
- N. D. Cahill, J. R. D'Errico, D. A. Narayan and J. Y. Narayan, Fibonacci determinants, College Math. J., 33(3), (2002), 221-225.
- [6] M. C. Dağlı and F. Qi, Several closed and determinantal forms for convolved Fibonacci numbers, Discrete Math. Lett., 7, (2021), 14–20.
- [7] C. M. da Fonseca, On the connection between tridiagonal matrices, Chebyshev polynomails, and Fibonacci numbers, Acta Univ. Sapientiae Math., 12, (2020), 280-286.
- [8] C. M. da Fonseca, Some comments on the properties of a particular tridiagonal matrix, J. Discret. Math. Sci. Cryptogr., 24(1), (2021), 49–51.
 [9] C. M. da Fonseca, On a closed form for derangement numbers: an elemantary proof, RACSAM, 114, Article ID:146, (2020).
- https://doi.org/10.1007/s13398-020-00879-3 [10] C. M. da Fonseca, Unifying some Pell and Fibonacci identities, Appl. Math. Comput., 236, (2014), 41-42.
- [11] B.-N. Guo, E. Polatlı and F. Qi, Determinantal Formulas and Recurrent Relations for Bi-Periodic Fibonacci and Lucas Polynomials. In: Paikray S.K., Dutta H., Mordeson J.N. (eds) New Trends in Applied Analysis and Computational Mathematics. Advances in Intelligent Systems and Computing, vol 1356. Springer, Singapore. https://doi.org/10.1007/978-981-16-1402-6_18
- [12] A. F. Horadam, Extension of a synthesis for a class of polynomial sequences, Fibonacci Q., 34, (1996), 68–74.
 [13] C. Kızılateş, B. Çekim and N.Tuğlu, T. Kim, New Families of Three-Variable Polynomials Coupled with Well-Known Polynomials and Numbers, Symmetry, **11**, 264, (2019). https://doi.org/10.3390/sym11020264 C. Kızılateş, New families of Horadam numbers associated with finite operators and their applications, Math. Methods Appl. Sci., (2021).
- [14] https://doi.org/10.1002/mma.7702
 [15] C. Kızılateş, Explicit, determinantal, recursive formulas, and generating functions of generalized Humbert–Hermite polynomials via generalized
- Fibonacci polynomials, Math. Methods Appl. Sci., (2023). https://doi.org/10.1002/mma.9048
- [16] C. Kızılateş, W.-S. Du and F. Qi, Several determinantal expressions of generalized Tribonacci polynomials and sequences, Tamkang J. Math., 53, (2022). http://dx.doi.org/10.5556/j.tkjm.53.2022.3743
- [17] T. Koshy, Fibonacci and Lucas Numbers with Applications, Pure and Applied Mathematics (Wiley-Interscience, New York), (2001).
- [18] G. Lee and M. Aşçı, Some Properties of the (p,q)-Fibonacci and (p,q)-Lucas Polynomials, J. Appl. Math., **2012**(2012), Article ID: 264842. https://doi.org/10.1155/2012/264842
- [19] R. S. Martin and J. H. Wilkinson, Handbook series linear algebra: similarity reduction of a general matrix to Hessenberg form, Numer. Math., 12(5), (1968), 349-368. https://doi.org/10.1007/BF02161358
- [20] E. Özkan and İ. Altun, Generalized Lucas polynomials and relationships between the Fibonacci polynomials and Lucas polynomials, Commun. Algebra, 47(10), (2019), 4020-4030.
- [21] E. Özkan and M. Taştan, On a new family of Gauss k-Lucas numbers and their polynomials, Asian-Eur. J. Math., 14(6), (2021). https://doi.org/10.1142/\$1793557121501011
- [22] F. Qi, Derivatives of tangent function and tangent numbers, Appl. Math. Comput., 268, (2015), 844-858. https://doi.org/10.1016/j.amc.2015.06.123 [23] F. Qi, M.C. Dağlı and W.-S. Du, Determinantal forms and recursive relations of the Delannoy two-functional sequence, Adv. Theory Nonlinear Anal. Appl., 4(3), (2020), 184-193. https://doi.org/10.31197/atnaa.772734
- [24] J. Ramírez, On convolved generalized Fibonacci and Lucas polynomials, Appl. Math. Comput., 229, (2014), 208–213.
 [25] A. G. Shannon, Fibonacci analogs of the classical polynomials, Math. Mag., 48(3), (1975), 123–130.
- [26] Y. Şimşek, Some new families of special polynomials and numbers associated with finite operators, Symmetry, 12(237), (2020), 1–13.
 [27] Y. Şimşek, Construction method for generating of special numbers and polynomials arising from analysis of new operators, Math. Meth. Appl. Sci.,
- **41**(16), (2018), 6934–6954.
- [28] N. Terzioğlu, C. Kızılateş and W-S Du, New properties and identities for Fibonacci finite operator quaternions, Mathematics, 10(10), 1719, (2022). https://doi.org/10.3390/math10101719
- [29] J. Wang, Some new results for the (p,q) –Fibonacci and Lucas polynomials, Adv. Differ. Equ., 2014(2014), Article ID: 64.